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«1AUL-4<UMAL-LIAL-19» Swdlwgpny qudw pupwgwlwngh
quwhwinnn hwuduwdnnnyh thuwnp

p. Rbpdniy «30» nblwbdptiph 2019p.
dwdp 10:00

Uwulwygnid Ehu hwuduwdnnnyp'
Lwfuwquwh’ Upubu Swnupyjwu
Uunwdubp’ Uwnbthwunu Ywpnwijwu
Jdwhb Mwqupjuu
Lwpunnuup’ Udpwwn Muwwynjwt

1. Cwiwduwy 2019p.-h ntywbdptiph 23-h  quwhwwnnn  hwuduwdnnnyh  Upuwh phy 3
wp&wlwgnpnipjwl.

w/22,23,24,25,28,29-nn swihwpwdhuubph hwdwp ng dh hwjn gEp ubipuywgyty.

p/1,2,3.4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21.26,27‘30,31,32,33,34,35.36,37,38.39,40,41
42,43-pn  swihwpwdhutbiph  hwdwp  hwpn  Ep o bbpluywgpty dwutwyhg'W/Q  Upwpuwin
Pwnwywlp,npnughg 9 U 11-pn swihwpwdhtutiph hwdwp ubpluwwgyb Ep Uwhuwhwowihu qubpht
hwlwuwp Ywd gwdp qubip,hugh wpryniupnd W2 Upwpwwn Punwyuup hwdwpyn £ 9 L 11-pn
swihwpwdhltbiph dwuny wnwohl wbin qpuntignwd dwutwlhg,hul dnw swthwpwdhuubiph hwdwp
ubipluwyugyws quwht wnwownlutpp glipwquiugnud thu uwfuwhwoywjhu qubipp.

q/12,13,14,15,16,19-pny swithwpwdhuubph hwdwp hwpn Ep ubipywjwgpty dwutwlhg'«Unyunnip»
UMC-,npntg hwdwp ubiplujwgyws quught wnwowplubipp gepuwquiugnud £hu Uwfuwhwyywihtu
quipp.

/W2 Upwpwwn Pwnwywup 23:12.19p. dwdp 11:00-pt hpwyhpyb) Ep pwuwygnigyniubph,

12.3.4,5,6,7,8,10, ,12,13,14,15,16,17,18,19,20,21,26,27,30,31,32,33,34,35,36,37,38,39,40,41,42,43-pn
swihwpwdhbutiph hwdwp ubplujwgpwsd quwiht wnwgwpyutiph 2nipg.

k/U/2 Upwpwn Pwnwywup b «Unungy UNC-U 23.12.19p. dwdp 11:00-hu hpwyhpdby Ehu
pwlwlgnuejniuitinh'12,13,14,15,16,19-pn. swihwpwdhutbiph hwdwp  ubpYwjwgpwd  quwjhu
wnwowplutiph 2ntnyg.

2.<woyh wnubny Ybpngpjwip U pwliwlgnipiwt wpnyyntupuinphwbduwdnnnip npnakig.

w/22,23,24,25,28 b 29-pn swithwpwdhuutiph dwuny dpgnyep hwdwnby swjwgwd,ng dh hwjn
subiplwjwgubiint wwindwnny.

p/12,13,14,15,16 L 19-nn swithwpwdhultiph dwuny dpgnypp hwdwpby
sywjwgwsd, Jwutwyhgubph  ng  pnipph - Ubpluywbwne - L pwlwlgnipyniuiipp  sywywbiwnt
wwwnbwnny.

q/1,2,7,10,19,20,21,28,29,30,34,39,40,41 U 43-pn swihwpwdhuutinh dwuny dpgnyep hwdwpb
suywgws, /2 Upwpwnn Pwnwywuh hbn quuwiht wnwgwplubiph 2nipg hwdwdwjunipjwl squint
wwwndwnny.



n/3,4,5,6,8,9,11,17,18,26,27,31,32,33,35,36,37,38 L 42-pn swihwpwdhuubiph dwuny wnwght
wnbin qpunbignwd Jwutiwlhg Swbwshp U/Q Upwpwn Pwnwywuht'd L 11-pn swihwpwdhulbiph
Jwuny ubplujwgpws gwsdp quwjht wnwewnlutiph,huy 3,4,5,6,8,17,18,26,27,31,32,33,36,37.38 U
42-pn swihwpwdhutbph Jwuny,quwihtt wnwowplubph 2ning pwliwlgnieyniuubiph wpnyniupnu

abinp pbpwd hwdwdwjuniejwt hhdpny(ubpyuywgynid £ unnpl).

gL wlwunuip wnwownldwsd ght ujwgbgywsd ghu
2/~ 3 | WA Upwpwn Punuywu | 115000 (uky hwpjnip | 10000/d6Y hwpynip thwup hwqup/ <<
nwutihhug hwquwp) << npwd npwd _
/P4 | WA Upwpwwn Punwywt | 180000 (dbYy hwpnip neuniu | 160000/d6Y hwpinin Jupunts hwguwn/
| hwquip) << npwd << npwid
/P 5 | WA Upwpwwn Punwywt | 279000 (Epynt hwpynip | 255000/Gpynt - hwpynip - hhundtuhhuag
jnpwuwuntuhup  hwqup) << | hwqup/ << npwd
npwu
P 6 | WA Upwpwwn Pwnwywl | 83000 (nmpunibpbp  hwqup) | 75000/)npwuwuntthhia hwqup/ <<
<< npwd nnuwd s
P8 | WA Upwpuwwn Punuwywu | 500000 (hhug hwpjnip hwqun) | 480000/snpu hwpynip nieunitu hwquwn
<] L npwd
/P9 | WA Upwpwin Punwywl | 520000 (hhug hwpynin puwt | 520000/hhug  hwpnip puwt  hwqup/ |
hwaquwp) €< npwd L npwd |
2/ 11 | WA Upwpwwn Pwnwywt | 225000 (GpYyne hwpnip | 225000/6pyne hwpynip puwthhug |
. puwthhug hwguwn) << npwd hwqup/ << npuwd
/P17 | WA Upwpuww Punwywt | 2350000 (bpyne dhihnt Gpbp | 2250000/6pynt dhihnt Bpynt hwpinip
hwpnip hhuniwhwqup) << | hhunt hwqup/ << npwd
npwd
/P18 | WA Upwpww Punwywu | 348000 (kpp hwpynip | 320000/tpkp  hwpynip - puwt hwqup/
pwnwunwinye  hwqup) << | £ ppwd
npwd
2/~ 26 | WA Upwpwin Pwnwywlu | 1700000 (d&Yy  dhthnu jne | 1700000/db6Yy  dhthnt g hwpjnip
hwpjnip hwquip) << npwd hwqun/ ££ npwd
Q/F 27 | WA Upwpwwn Punwywu | 19000 (wwulpup hwqup) << | 18000/nwutnte hwqup/ << npud
npwd
P31 | WA Upwpwwn Pwunwpwl | 46000 (pwnwuntudbg hwqup) | 42000/pwnwuniatiplne hwqup/ ££
= << npwid nnwd - |
/P 32 | WA Upwpwin Punwywt | 234000 (Gpyne hwpjnip | 230000/BpYnt hwpynip Gpbunt hwqup/ |
bpuntusnpu hwquip) £ npud | << npuid
2/P 33 | WA Upwpwwn Punwpwt | 318000 (Gnbp hwpjnip | 300000/6ptp  hwninip hwqup/ <<
nwutnip hwqup) << npud npwd
/P 35 | WA Upwpwin Pwnwywl | 62000 (Jupuntubplne hwqup) | 58000/hhuntunye hwqun/ << npwd
| £ npwd
| 2/~ 36 | WA Upwpwwn Punwywt | 225000 (Gnynt hwpynip | 360000/6ptp hwpynip uwpuniu hwqup/
puwithhug hwquip) ££ npuwd £< npwd |
QR 37 | WA Upwpwun Pwnwpwl | 43000 (pwnwuniubipbp hwqup) | 39000/bpbuniuhup hwqup/ << npwd
L npwd
P38 | WA Upwpwin Punwpywi | 62000 (Jupeunbpynt hwqup) | 58000/hhuntunie hwqup/ << nnwd
<< npwd
/R 42 | WA Upwpwwn Punwpwt | 120000 (d6Yy  hwpnip puwt | 115000 dby hwpnip wwwuthpug
hwqup) << npwd hwqup/ << npwd

Cunniuydl) £ npnond’ Ynnd -3, nbd-0

2. Cwudwdnnnyp Yunuiubiph  dwuphu” << opbuph 10-pn hnndwsh  hwdwdw)u’

{(23})

ntywnbdptiph 2019p.-hu wugnpdniejwt dwdytinn tp uwhdwb) 5 opwgnigwihu op:

3. Uwutwlyhgubph Ynndhg ubpluwywgqwsd hwyinbipnd  wihwdwwwinwuluwunipniuutin sku
huwjintwpbpdb: <pdp punniubing bpngpjwip b wugnpdnipjut dwdwuwlwhwunywdnw pnnnputiph
pwgwluwinipniup, hwuduwdnnnyp npngbg ppwgwlwngh wpryniuputiph wdthnthdwu wpnyniupnd
wnwownpyb] W Upwpwwn Pwnwywuht Yupk LEPUNRY LUUUSLLP «2UShY» UULYUMUNSER




LNRS  <NU4-b  YUPheLENPh  <UUUrM LN 9Nh3eh  A6NLPENUUL  MUSUULUSHE, YEpnugjwy

swihwpwdhuubph hwdwn,ybEpnugjwy qubipny:
-/—r!/amubh Swnuplyjwu

Cunnudt £ npnand’” Ynnd-3, nkd-0

Lwbduwdnnnyh bwfuwquh'

Lwbduwdnnnyh wunwdubp' Uwnbithwunu Ywpnwtjwt

N Jdwht Nwqupjut

Cwuduwdnnnyh pwpunntnup' =7 Udpwun Mwwynjwl




